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Question 1.Select the related word/letters/number from the given alternatives.
&3 913 fashedl 7 & Fafrerd ey 3aRl/aEdr H 9Tl
Play:Actor::Concert:?

ATee : ATHAAT ;2 Tl IS : ?
Options:

1) Symphony

FX-gehd

2) Musician

HMNTHR

3) Piano

[EEiC

4) Percussion

JTETT areg

Correct Answer: Musician
FfiasrR

Candidate Answer: Musician

HINTRFR

Question 2.Select the related word/letters/number from the given alternatives.
&3 Iy faeneal & @ Farfetre Qrec) 36RI/EEaT T giav|

EGIK : FILO :: FHIL : ?

Options:
1) JGMP

2) JGPM
3) GIMP

4) GMIP
Correct Answer: GJMP
Candidate Answer: GJMP

Question 3.Select the related word/letters/number from the given alternatives.
&3 I faehenl 7 @ Hafewd se) IaR/TET H gfAT|

583:295::486:7?
Options:
1) 291

2) 378
3) 487

4) 581
Correct Answer: 378
Candidate Answer: 378
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Question 4.Find the odd word/letters/number pair from the given alternatives.
R T faepedl & @ fawer erse/ ster/aEar goA gfav|
(A) Fire (B) Light (C) Gas (D) Water

(A) 3T (B) Y (C ) 3 (D) Tty

Options:
1)A

2)B
3)C

4)D
Correct Answer: D
Candidate Answer: C

Question 5.Find the odd word/letters/number pair from the given alternatives.
183 I faehedl & & fave eee/ JHeR/aEar Z9A AT |

(A) ECBY (B) RTUX (C ) GEDA (D) WUTQ

Options:

1)A

2)B

3)C

4)D
Correct Answer: B
Candidate Answer: B

Question 6.Find the odd word/letters/number pair from the given alternatives.
&3 I fashedl & @ fawar eee) JeR/wEar Z9A gfAv|

(A) 52-61 (B) 43-54 (C ) 72-83 (D) 18-29

Options:

1)A

2)B

3)C

4)D
Correct Answer: A
Candidate Answer: A

Question 7.Arrange the following words as per order in the dictionary.

fArafaf@d erdl I erehier 7 fov a1v e & 3r7ar fAfw ?
1. Fraudulent 2. Fraught 3. Fraternity 4. Franchise 5. Frantic
Options:

1)5,4,1,2,3

2)4,5,3,1,2

3)4,3,51,2

4)3,4,52,1
Correct Answer: 4,5,3,1,2
Candidate Answer: 4,5,3,1,2

Question 8.Which one set of letters when sequentially placed at the gaps in the given letter series shall complete it?

T 10 TaFoml 7 & i AT &R TG 9T 7 &1 TS 376 ATl & Tl T TR FHAR TWel T 3 AWl &l I AT & ?

H__JH__IJHHI__HH__JH



Options:
1)IHJI

2)HIHI
3)IHIJ

4)HIH]
Correct Answer: I HJI
Candidate Answer: IH 1]

Question 9.Which number will complete the series?

T aTv Rremexll 7 & et T TEAT 38 el FH QU FAT S ?
63,72,81,90, ___, 108

Options:
1) 80

2) 99
3) 100

4) 117
Correct Answer: 99
Candidate Answer: 117

Question 10.Rajiv is the brother of Arun. Sonia is the sister of Sunil. Arun is the son of Sonia. How is Rajiv related to Sunil?

ST 30T T &S | ToT oller T Tt & 137607 W12 T ST §| Toiia ol Goller § T Foaer § 2
Options:

1) nephew

et

2) son

et

3) brother

g

4) father

rar

Correct Answer: nephew

srcfrs

Candidate Answer: nephew

arcfa

Question 11.A mother is five times older than her daughter. After 5 years, she would be 3 times older than her daughter. Find the mother's present age.

Tk Al 39T G A I & G1e AT 1 §1 5 A TG 3HRT I AT G H1 37 ¥ 3 I[AT 1 AR | FHT N TTARA I TS ?
Options:

1) 20 years

209§

2) 22 years

223y

3) 25 years

253y

4) 29 years

29 9§

Correct Answer: 25 years

259Y

Candidate Answer: 25 years

25 a§

Question 12.From the given alternative words, select the word which cannot be formed using the letters of the given word:

Trfaed faehoat & & g5 2ee YT St 9o 3 fGU 1T 2fee; & HERT T THIT Fleh w7 S=A1dT ST Fehel :
PRONOUNCEMENT



Options:
1) MOUNT

2) CEMENT
3) PAVEMENT

4) NOUN
Correct Answer: PAVEMENT
Candidate Answer: PAVEMENT

Question 13.If SYSTEM is written as RXRSDL.
How can CORRECT be written in that code?

gfe SYSTEM &t RXRSDL for@r ST & , @ CORRECT &t 38 15 7 &y forer i ehar g ?

Options:
1) BNQQDBS

2) BQQNDBS
3) BNQQBDS

4) BNQDQBS
Correct Answer: BNQQDBS
Candidate Answer: BNQQDBS

Question 14.If A means +, B means x, C means +, D means —, then the value of given equation will be?

IMRAFIT + 8, BHIITxE, CH 3 = &, DF 3 - §, O Re=rfaf@d geliewor &1 &= sasv ?
9A2B6D4C2

Options:

1) 16

2) 19

3)27

4) 30
Correct Answer: 19
Candidate Answer: 19

Question 15.If, 4x3=14; 5x4=18; 6x5=22; Then find the value of 7x6=?

7 4x3 = 14; 5x4 = 18; 6x5 = 22 @, AT 7x6 & AT AT HIST ?

Options:
1) 20

2) 26
3) 30

4) 42
Correct Answer: 26
Candidate Answer: 26

Question 16.Select the missing number from the given responses:
TeU a1C fehedl 7 & o HEAT 31T HIfSIT ?

9 45 7
11 99 9



Options:
1)6

2)9
3)5

4)4
Correct Answer: 5
Candidate Answer: 5

Question 17.Rita travelled 35 Km from a point towards South and then turned left and travelled 20 Km and finally turned left again and travelled 35 Km. In which
direction is she from the starting point?

reT vk T9wg & SferoT i 3] 35 R o, wrelr 31 O o gl 31X 20 6,20, e, ST o el 3HiX 35 .20, el Qpeairelt faeg & a8 319 fohg e A @ & 2
Options:

1) East

o

2) West

qfeas

3) North

3cd¥

4) South

gfaror

Correct Answer: East

LC)

Candidate Answer: East

9§

LN

Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statement: To achieve economic development, people should work hard.

Conclusions: I: Economic development is directly related to people's hardwork.

II: Working hard by all the people is impossible

AT U2 & U A1 e gy Y 13 &, 5w 3mT & fAsehs/Aega, 1 3R 11 Rerrel 7 €1 319en! faR 3T § o aFded Ocd § I 98 AHeId: AT a2l &
et T 8T &1 Ut fAvTT e § 1 U 910 gordey & @ -1 AfRad &9 & @Y fsewy/A=aar fRerern s ashar g ?
FUA ; 3T [FRRT Tod I & FIT S9N T HiSeT TRAH HLT AT

sy 1) 3 faer oot & wida aRem 3 QY Fefeud g

I1) Tt STt SanRT shfdeT TR et 31699 B

Options:

1) Only I follows

el forsend 11 WY &1

2) Only II follows

Fadl fosay 11 T 8l

3) Both I and II follow

At sy 1 3R 11 @@ 81

4) Neither I nor II follows

AT Y SRy I e & A7 & sy 11

Correct Answer: Only I follows

Fad sy 11 T &

Candidate Answer: Only II follows
ool sy 11 Ggr &



Question 19.Find the number of triangles in the figure.

few arw for 3 forcter FegT £ 2

Options:
1) 12

2) 18
3) 22

4) 26
Correct Answer: 18
Candidate Answer: 18

Question 20.Which of the answer figures best represents the relation between:
Shirt, Garments, Clothes

et TN Sec TPl FFfelle geat U 10 ereel & e T Traiwer 1 efich § 2
FHIST , I, FAT



Options:
1)

(G
Pt

L
N

3)

Ny
)

e

Niert” |

Correct Answer:

ﬂ{

P

Lo
fa
-

—

Y
o’
|

Candidate Answer:

V.

~

e

Ntet” |




Question 21.Which answer figure will complete the pattern in the question figure?

alel T 3ca JATehic T2 1Tt & ITAeT T QU Ll § ?

Options:
1)
P

1
2)

[

|
3)

_’f

.«'I N

4)

|

|
Correct Answer:

|

|




Candidate Answer:

Question 22.From the given answer figures, select the one in which the question figure is hidden/embedded.

& 978 3eaX JmRfcrat 7 & 38 g o veat angfa fafea €2

Options:
1)
|
,.I, 1
Tt T
IS
:N .r"‘"
g L | r
LY\
|
I
2)
o
[ s '
L3
LY = o
=S/
|
[
3)
Al
i a_
4)
7%
] -
\E_ s =
< 7""’ [ ||
ﬂbi\n .‘ J)ﬁ :




Correct Answer:

11
|
'.If 1
72O
Ij"\ r;#__
<14 r
LAY
JEa]2)
11
Candidate Answer
"I 1
0N
I:I\'l r:#__
g L 1| r
LAY
| |
[ 11

Question 23.A piece of paper is folded and punched as shown below in question figures. From the given answer figures, indicate how it will appear when opened.

T 3T & fo@TT 3TER HETST A HSH e Fe IUT Wield 916 I8 e Sl 3mehfar Siar fowrs &am ?

7 r: E see

R JE T
L . ] L] ]
\-n-




Options:

1)
-
©
N 1
W
2)
[
. 7]
© G
] i o
4
! O
3)
o] 0
PR ILENE 1
o Plo
o 0
Q0
L 11
4)
A
e o0
O e
Correct Answer:
o 2s)
o 2) © i g_
& -Plo
o ‘0
Q0
L 11

Candidate Answer:

+ W+




Question 24.The mirror image of a word is seen as given below. What is the actual word?

AT v e T T wiA e R IR & | aiae Qeg AT R ?

AN
LTV J’IHIV‘I
Options:
1)

ENIRAM
2)

MAREIN
3)

ENIMAR
4)

MARINE
Correct Answer:

MARINE




Candidate Answer:

=
=

Question 25.In the question, a word is represented by only one set of numbers as given in any one of the alternatives. The sets of humbers given in the alternatives
are represented by two classes of alphabets as in two matrices given below. The columns and rows of Matrix I are numbered from 0 to 4 and that of Matrix II are
numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its coloumn,e.g., B can be represented by 00,13, etc, and A can
be represented by 55,69, etc. You have to identify the set for the word 'LION'.

Frafafld wea ¥ et 7 T aTv dear-wegg, 318RT & aF a9t gan i a1v §, SR 3 iy fw a1w & smeggt 1 §1 3megp 1 & T s affa M dear 0 a4 aw &
1§ §, T 3T 11 & 5 {9 Tk, 57 YT & Teh 3N T Ugel 38HT TTed IR a1e 7 Ee7 HEAT S@RT ST ST FehelT §1 3T6X0T & T, B & 00, 13, 311 gamr a=ffar
ST Hhell § T A 1 55, 69, 3Te SarT &R S HehelT §1 ST ¥ ¥ 39! QT 21 'LION' & fow wofg 1 gganeiatr &1

Matrix- Matrix-11

0J]1 12 |3 |4 5 3 7 g 9
0 B|IN |G L D 5 A I K 8] R
1 G |L D B N -] I K O |R A
2 D|B |N |G |L 7 O |R | A !
3 N |G |L D |B 8 0] A | K
4 L D |B N |G 9 R A I K &)

Options:

1) 03, 55, 76, 33
2) 11, 65, 77, 22
3) 23, 79, 85, 43

4) 11, 88, 99, 22
Correct Answer: 11, 88, 99, 22
Candidate Answer: 23, 79, 85, 43

Question 26.Besides CO,, the other green house gas is

CO, & 3EdT 31 T g1 I SleA-AT § ?

Options:
1) CH4
CHy4

2) N,

Correct Answer: CHy
CHgy4

Candidate Answer: CHy
CHy4

Question 27.National Income of India is compiled by

TR Y TASERT T HT TeholeT leT AT &7



Options:

1) Finance Commission

faed 3marr

2) Indian Statistical Institute

3) National Development Council

T8 e aRve

4) Central Statistical Organization

FFAT TITETHT Fars=T

Correct Answer: Central Statistical Organization
Candidate Answer: Finance Commission

ea T

Question 28.The power of the Supreme Court of India to decide disputes between the Centre and the States falls under its

AR & ITITH ~ARTAHT FT Fheg, 3R T F S [Faret & Ao fr afea g sredsr srar g ?
Options:

1) Advisory jurisdiction

HAGHR STFITEHIRAT

2) Original jurisdiction

e SRR

3) Appellate jurisdiction

3TdTeT SYATERIRAT

4) Jurisprudence

ST

Correct Answer: Original jurisdiction
T erfaERar

Candidate Answer: Advisory jurisdiction

TeAlghR eI Rar

Question 29.The word 'Satyameva Jayate' have been derived from which Upanishad?

'TeAT ST g, [hd 3ufave & for amm g ?
Options:

1) Akshi Upanishad

3ifay 3ufave

2) Mundaka Upanishad

HUsH 3ufeve

3) Garuda Upanishad

&S 397G

4) Mahavakya Upanishad

FEATFT 3979

Correct Answer: Mundaka Upanishad
HUSH 3ufAve

Candidate Answer: Mundaka Upanishad
HUSH Ul

Question 30.When Granite rocks get metamorphosed, they form

S APBE T TR Bl & b 318 FAT §oTdT &7
Options:

1) Quartzite

FaESE

2) Gneiss

AT

3) Marble

HIFH

4) Slate

T

Correct Answer: Gneiss
AT

Candidate Answer: Quartzite

FaESE



Question 31.Which of the following is a commercial source of energy?

frfaf@d & & F91 a0 1 affogs ET & ?
Options:

1) Agricultural waste

Y 3fIse

2) Dried dung

@ M

3) Sun

w

4) Natural gas

o

Correct Answer: Natural gas
wrpfa g

Candidate Answer: Natural gas
ST A

Question 32.Backward bending supply curve belongs to which market?

YT Sohe] TS 5k T HEE hT SR T8 ?
Options:

1) Capital

2) Labour

5T

3) Money

b

4) Inventories

aor g

Correct Answer: Labour
ST

Candidate Answer: Inventories

SAESY

Question 33.In IT, associative memory is called as

AT TR 3F TR A Y T e § 2
Options:

1) Virtual memory

Y3 AAN

2) Cache memory

T AARY

3) Content addressable memory

HeT TghTA HARY

4) Main memory

AT AAY

Correct Answer: Content addressable memory
HeT TZhTA HARY

Candidate Answer: Cache memory

Sher AANY

Question 34.Addition of suitable impurities into semiconductor, is called

3TEfeITorh 7 39 FAYGATHT i TR T T gl 87
Options:

1) Doping

wed

2) Mixing

fFsor

3) Forming

wqoT

4) Diluting

GLezul

2
Correct Answer: Doping

wied



Candidate Answer: Doping
wed

Question 35.Kyoto Protocol is associated with

Fer Mekhler o Tae fhaa § ?
Options:

1) Species conservation

e TETOT

2) Climate change

STty qRaciet

3) Wetland Conservation

3T, Sf EReToT

4) Medicinal plants

3itwefrr oy

Correct Answer: Climate change
Storary afacret
Candidate Answer: Medicinal plants

Stwelr ofer

Question 36.Ebraham Alkazi is an eminent personality in which one of the following area?

SSTEH 3TeThlol fFtarad & & fhg & 7 ufag afeaaa § 2
Options:

1) Heart surgery

e g rafhear

2) Civil aviation

afae e

3) Theatre

AT 7T

4) Painting

IEECTIN

Correct Answer: Theatre
AT FHa

Candidate Answer: Painting

IBECT)

Question 37.Skoda, which launched sedan 'Rapid', is an automobile manufacturer based in

1T, foreet T9TR 3 37t et ' S!S Fjera: R & & sifeiAiaTse e 82
Options:

1) Japan

STl

2) France

BRT

3) South Korea

gfaror ST

4) Czech Republic

A ORI

Correct Answer: Czech Republic
Ueh VRS

Candidate Answer: Czech Republic
A IURST

Question 38.Sattriya is a classical dance form of

T T3 T T AT e & ?



Options:

1) Manipur

ATy

2) Uttar Pradesh
ERRe

3) Assam

Rinero

4) Andhra Pradesh
JTET 92T

Correct Answer: Assam
JaH

Candidate Answer: Manipur

AR

-]
Question 39.P. V. Sindhu defeated Wang Yihan to enter the semi final of womens' singles of badminton at the Rio Olympics. Wang Yihan belongs to

o, &, iy o RN sireifPaera 7 aier MgreT o g1 w1 Afgan3it Hr Ssfiest i vare TTADAT 3 Q2 wrgerer 7 varer o aier Mgrer wat 6 82
Options:

1) Indonesia

ESCIRDI

2) Taiwan

GIEEICH

3) China

Gl

4) Japan

STl

Correct Answer: China
T

Candidate Answer: China
AT

Question 40.If a budget is defeated in the legislature of a state then

e el T & YT Aser 3 ot PR S, ar

Options:

1) The Finance Minister alone has to resign

el e HeAY Y T I AT USaT §

2) The Finance Minister concerned has to be suspended

Frafyd facd 7 i Weifad a RIm Siar &

3) The council of Ministers along with the Chief Minister has to resign
AT 7 Afgd, 7 IREE T AW T GAT I5AT

4) Re-election have to be ordered

GERT AT o 37Tel U 1 &

Correct Answer: The council of Ministers along with the Chief Minister has to resign
AT 7 Afed, 7 IREE H AW T G I5AT

Candidate Answer: The Finance Minister concerned has to be suspended

FFITUd fed #oat &1 fovelfad oY faar siar &

Question 41.Which one of the following papers was edited by Gandhiji in South Africa?

frfaf@d & & for @R 1 airefish = afayor 3R 7 Jures fRar ?
Options:

1) Indian Opinion
HERCEIIEIGRD]

2) Harijan

Rt

3) Young India

a7 gT3aT

4) Indian Mirror

gf3ge fRR

Correct Answer: Indian Opinion
e AT

Candidate Answer: Harijan

Rt



Question 42.In which of the following cities India's first water metro project was recently launched?

ATl # & e AeT 7 81X T Tgell STt AT TRAISTAT gTel & H Y& RIS ?
Options:

1) Kolkata

FHITRIT

2) Kochi

FifeT

3) Vishakhapatnam
@7

4) Mumbai

qHS

Correct Answer: Kochi
Fifea

Candidate Answer: Mumbai

Lirs

Question 43.Meibomian glands are located in

Aeafaze afey fras g g 2
Options:

1) Eye

it

2) Ear

Eac

3) Nose

TR

4) Skin

T

Correct Answer: Eye

K rc)

Candidate Answer: Ear
Eac

Question 44.In which city is India's first Post Office ATM opened?

fohe 2R H HRT T Ugell SHER U.ELUA. Tlell I1AT & ?
Options:

1) Chennai

AeTs

2) New Delhi

S fee

3) Hyderabad

e

4) Mumbai

Eitai)

Correct Answer: Chennai
AeTs

Candidate Answer: Chennai

Ueelg
Question 45.Arsenic problem in India is primarily due to

AR # o T e &9 W R FROTAE ?
Options:

1) Overexploitation of coal in Bihar and Bengal

TSER 3R Forrer 7 Il F1 AT aget

2) Overexploitation of arsenopyrite in the hinterland
Beolvg & 3THARRIST FT cafs g

3) Overexploitation of ground water in the affected areas
TeTae &7 3 8-Sl o 37cgTeeh Alget

4) Overexploitation of surface water in the affected areas
weIfaT &1 3 $TSET STel hr A Teeh gt

Correct Answer: Overexploitation of ground water in the affected areas

T &7 3 8f-ieT o e TR Algel



Candidate Answer: Overexploitation of surface water in the affected areas

ssIfareT &1t A $[gSET Siet hr JHcaTeieh alget

Question 46.Men's Singles Wimbledon Championship 2016, is bagged by

&Y Tehel faearefset IPIIARIT 2016 Fheer ST ?
Options:

1) Andy Murray

W

2) Milos Ravnic

[GEGREIGE

3) Roger Federer

U s

4) Novak Dijokovic

CiCICACIENIEED

Correct Answer: Andy Murray
iy
Candidate Answer: Novak Dijokovic

Arares SRiTaE

Question 47.Which of the following vitamins are water soluble?

rfafed 7 & -1 e arel & geeeie & ?
Options:

1) Vit. A& Vit. B

arfas A 3k fafas B

2) Vit. B & Vit. C

farfa= B 31k faeafds C

3)Vit. C&Vit. D

ferfdst C 3k faaf@= D

4) Vit. A& Vit. K

farf@e A 3R fJefds K
Correct Answer: Vit. B & Vit. C
ferf@et B 31 farfdsr C

Candidate Answer: Vit. A & Vit. B
arfas A 3k fFafas B

Question 48.In terms of economics, if it is possible to make someone better-off without making someone worse-off, then the situation is

3rdfereT 1 &S B, I =T el Y g I=TT Rt 3R & SgaR Terg &, o ag Rufa Faraad &2
Options:

1) Inefficient

3catr

2) Efficient

caT

3) Optimal

gsedH

4) Pareto-superior

R

Correct Answer: Pareto-superior
qET-Avs

Candidate Answer: Pareto-superior

RA-AS

Question 49.Green House Effect' means

'INT T3 T’ T T TR & ?



Options:

1) Pollution in houses in tropical region

30T e &1 # T T Feguor

2) Prevention of ultra-violet radiation by the ozone layer

SN IR GIRT ORT-SeTedT Feott &t AehedT

3) Trapping of solar energy due to atmospheric gases

argHs 3 3 FHROT AN Sl Y Aehe?

4) Damage to green painted buildings

B T T SARCAT Y JehdleT

Correct Answer: Trapping of solar energy due to atmospheric gases
ARYHSAT I & HROTHR FoiT o Aefelt

Candidate Answer: Prevention of ultra-violet radiation by the ozone layer

IS IR EIRT ORT-S 97T FoXoTt T Aehedl

Question 50.General Dyer, who was responsible for Jallianwalan Bagh massacre, was shot dead by?

TS SR, S SATATATE STT AEER T &Y 2T, fohdeh gaRT AR 3137 207 ?
Options:

1) Hasrat Mohini

gERd AR

2) Vir Savarkar

AR HratE

3) Udham Singh

U B

4) Jatin Das

EIGCRA

Correct Answer: Udham Singh
U B

Candidate Answer: Vir Savarkar
CIS:ICRC Ty

Question 51.X can do a piece of work in 'p' days and Y can do the same work in 'q' days . Then the number of days in which X and Y can together do that work is

X Torel & &t 'p' f&aT 7 Y werdT & 3R Y 38 & &t 'q' AT 3 T FhdT &, At X 3R Y fAciet 38 & &t fandel et 3 qur et ?
Options:

1)

pta

ptaq

4)pq
Correct Answer:
S

ptq

Candidate Answer:
Pq

pt+q

Question 52.A shopkeeper marks his goods 40% above the cost price and allows a discount of 25% on it. His gain % is

IS GHTAGR 3T HHI T 3 FHed T 40% T 7o 3HThel T & 3R 38 W 25% I P T &1 SHHT oIeT Tl TABT ?
Options:

1) 5%

2) 10%

3) 15%

4) 20%

Correct Answer: 5%

Candidate Answer: 5%



Question 53.The ratio of the ages of two boys is 3:4. After 3 years, the ratio will be 4:5.The ratio of their ages after 21 years will be

2 SISehT T 3T M T 3:4 1 3 I 916 T§ 3N 4:5 81 ST &1 21 aY & o1e; Sefeht 31 H AT 31Tl g ?
Options:
1) 14:17
2) 17:19
3) 11:12

4) 10:11
Correct Answer: 10:11
Candidate Answer: 10:11

Question 54.The cost price of 25 books is equal to the selling price of 20 books. The profit percent is

25 TR T 5T 7 20 TEIR! & [T 7o & Sa §| 3T TTIered TSy ?

Options:

1) 20%

2) 22%

3) 24%

4) 25%

Correct Answer: 25%
Candidate Answer: 25%

Question 55.0ne number is 25% of another number. The larger number is 12 more than the smaller. The large number is

T AT 31T TEAT F¥ 25% &1 T8 T&IT DI FEIT H 12 310 &1 I8 T&aT FA1§ ?
Options:

1) 48

2) 16

3) 4

4) 12
Correct Answer: 16
Candidate Answer: [ NOT ANSWERED ]

Question 56.A train 500 m long, running at a uniform speed, passes a station in 35 sec. If the length of the platform is 221 m, the speed of the train in km/hr is

500 . ol Ueh YoMLY, ST Teh AT dlel X Tl T8I &, T T ol 35 Wehus & IR T T &1 TTe Colehie i oiars 221 #. gr Y Teremey v et fop. 241, /gier & o giefr
?

Options:

1) 721/35

2) 74.16

3) 24.76

4) 78.54
Correct Answer: 74.16
Candidate Answer: 74.16

Question 57.If the simple interest on Rs. 400 for 10 years is Rs. 280, then rate of interest per annum is

& Rs. 400 9¥ 10 ¥ & ToIT AIYROT s4TT Rs. 280 &) d aTieh saTel &¥ Al &Y ?

Options:
1) 7%
2)7% %

3)7 % %

4)8 2%
Correct Answer: 7%
Candidate Answer: 7%



Question 58.
Ifa+h=2c, then the value of ﬁ + i is equal to (where

ax b # )

Tz a+b=2 E?H};!i_c+ia?rﬂmmﬁ?
(Sl azbzc))

Options:
1)-1

2)1

3)0

b | 2~

Correct Answer: 1
Candidate Answer: 1

Question 59.

1 X
Ifx+ —=5, then the value of ——— is
X x4l

Tl x+i=55’?5‘f X7 HA AT 7

1+x+x’

Options:
1)

4)6
Correct Answer:
1

6

Candidate Answer:
1

6

Question 60.G and AD are respectively the centroid and median of the triangle AABC.The ratio AG:AD is

AABC # G 31 AD H#e: Fwgh AR Hed 1@l §1 AG:AD &l 3fUTd T § ?

Options:
1) 3:2

2)2:3
3)2:1

4) 1:2
Correct Answer: 2:3
Candidate Answer: 3:2

Question 61.A point P lying inside a triangle is equidistant from the vertices of the triangle. Then the triangle has P as its

Ty FRenIoT & 3eex &1 3R vk faeg P 3 Fenior & ot & wwgyey &1 A Belor # P 3@et 2 gler ?



Options:

1) Centroid

Fech

2) Incentre

3id ey

3) Orthocentre

AFEHG

4) Circumcentre

IREeg

Correct Answer: Circumcentre
TR

Candidate Answer: [ NOT ANSWERED ]

Question 62.If sinB + cosd = 1, then the sinB cosb is equal to

If& sin B + cos 8 = 1 &, d¥ sinB cosd fFah ST g1 ?

Options:
1)0

2)1
3) 1

4) -
Correct Answer: 0
Candidate Answer: 0

Question 63.If 7 times the seventh term of an Arithmetic Progression (AP) is equal to 11 times its eleventh term, then the 18th term of the AP will be

T Tl ATOIRT 31efehet (T.A.) T FieTd Ue T 7 I[0T, 38eh TRGd Ie o 11 07 3 SRR g ol 3 0N 31efehe (T..) 7 18T v 4T g ?
Options:

1)1

2)0

3)2

4)-1
Correct Answer: 0
Candidate Answer: [ NOT ANSWERED ]

Question 64.The average age of eight teachers in a school is 40 years. A teacher among them died at the age of 55 years whereas another teacher whose age was
39 years joins them. The average age of the teachers in the school now is (in years)

Tl Freamery 31 8 Jreaoeht & 3iea 3mg 40 a¥ §1 378 & 55 I & Teh 3T 1 Fcg 81 Sl & 3N 39 T &l Teh 3 3reardeh fgera o fordm S & | faemers &
IEGTIeRT T TTHE AT 3T (Fu & ) A1 RS ?

Options:

1) 35

2) 36

3) 38

4) 39
Correct Answer: 38
Candidate Answer: 38

Question 65.
= 2

o 5
2 2

1+  1+e

£ =2 — 2 _ 1 thenfindthevalue t:ufi +
b+eo cta a+b 1+a

M = =g =+ L ar A A o

btc  cta  ath 1ta 1tk




Options:
1)0

2)1
3)2

4)3
Correct Answer: 2
Candidate Answer: 3

Question 66.

7 1
If 2x + — = 3,then the value of x* + — + 2is
% %

2?12'2x+§=3,5’?’ﬁ?’x3% + 2 FT HlT FATENT ?

Options:
1)
3

4

2)

IS w
o un~ LTS

0
ol @ ~0 |l -

rrect Answer:

Candidate Answer:

Question 67.Two equal circles of radius 3 cm each and distance between their centres is 10 cm. The length of one of their transverse common tangent is

& AT god ToteTent Fiear 3 .3 31X 357F et o ot 10 W38 1 g1 §1 3791 & U JoIE AN T YW T IS &7 gat ?
Options:

1) 7 cm

7 &

2)9cm

9 7.4

3)10cm

10 T

4) 8 cm

8 {.A.

Correct Answer: 8 cm
8 {.A.

Candidate Answer: [ NOT ANSWERED ]

Question 68.

1
I AABC if the median AD = 3 BC,then £BAC is

AABC H TS AEASTAD = 1/2 BCRI Al 2BAC FATRIEN ?



Options:
1) 90°

2) 450
3) 60°

4)75°
Correct Answer: 90°
Candidate Answer: 45 °

Question 69.

5in@+cos8 2 :
—— = 3 then the value of sin*@ - cos*8@ is
5in8 —cos0

gy g &1 aT,sin®0 - cos*e T AT

sing —cosB
AT I ?

Options:
1)

Correct Answer:

lw® wnlw

Candidate Answer: [ NOT ANSWERED ]

Question 70.A sphere has the same curved surface area as a cone of vertical height 40 cm and radius 30 cm. The radius of the sphere is

Tl aMeteh oAl 3T &) FHYTS S & FoidaT foh Ueh 40 A.AL 31 3R 30 A7, B arel i #1) aiteres 1 s sy ?
Options:

1) 5V/5cm

5v/5 .3

2) 5v3cm

5v3 @A

3) 5V15cm

5V15 {4

4) 510 cm

5v10 &.7 .

Correct Answer: 5V15 cm

5v15 &.4.

Candidate Answer: 5v5 cm
5v5 @A

Question 71.The angle of elevation of the top of a tower from a point A on the ground is 30°. On moving a distance of 20 metres towards the foot of the tower to a
point B, the angle of elevation increases to 60°. The height of the tower in metres is

HfA o el g A & TRl AT & &N ot Sootaret hloT 30° 81 #AR o TR T 3R 20 A, ST FHT el g B OX 37T 10T o 60° &Y 1T &1 AR &1 Felrs
(3. #) sz ?



Options:
1)v3

2) 5v3
3) 10v3

4) 20v3
Correct Answer: 10V3
Candidate Answer: 103

Question 72.Given here is a pie chart of the cost of gold in 2010, 2011, 2012 and 2013. Study the chart and answer the following questions

Igl feU 1w urs-=n€ & a¥ 2010, 2011, 2012 33X 2013 F A Fr HieAa 2Ry =Y &1 T0€ & 3reaae 3R Aeafaf@d weat & 3ear e |
2010

2013

1350 750 2011

105°
2012

If the price of gold in 2013 is Rs. 31,500 per 10 gram, then the price of gold in 2011 per 10 gram is

Ife a¥ 2013 & T Fr HAT Rs. 31,500 TS 10 IT 8T Ay a¥ 2011 F 9 10 I3 A & HroAd sasy ?

Options:
1) Rs.17000

2) Rs.17500
3) Rs.18000

4) Rs.18500
Correct Answer: Rs.17500
Candidate Answer: Rs.17500



Question 73.Given here is a pie chart of the cost of gold in 2010, 2011, 2012 and 2013. Study the chart and answer the following questions

gt fou 710 ui-are # a¥ 2010, 2011, 2012 317 2013 # AT H FAT =M= I=f | A€ F 3reTaa X AR AeAfaf@a gt & 3car |
2010

2013

135° 750 2011

105°
2012

The ratio of the price of gold in the two years 2010 and 2013 is

a¥ 2010 31 2013 & Her Y FIATT T HFITT TASY ?

Options:
1) 1:2

2)1:3
3)1:4

4) 1:5
Correct Answer: 1:3
Candidate Answer: 1:3

Question 74.Given here is a pie chart of the cost of gold in 2010, 2011, 2012 and 2013. Study the chart and answer the following questions

gt U 1T urg-are # a¥ 2010, 2011, 2012 3R 2013 F ey 1 HreAd AT =AY § | T F 31277 A AR FArafaf@a geat & 3eav Qo
2010

2013

135° 75¢ 2011

105°
2012

The percentage of increase in the price of gold from the year 2011 to 2013 is

a9 2011 A Y 2013 A Aot 1 Fracht # it yfcrere 3R ge ?
Options:

1) 50%

2) 60%

3) 70%

4) 80%

Correct Answer: 80%

Candidate Answer: 60%



Question 75.Given here is a pie chart of the cost of gold in 2010, 2011, 2012 and 2013. Study the chart and answer the following questions

gt fou 10 ui-are # a¥ 2010, 2011, 2012 317 2013 # AT H FAT =i I=A | A€ F 3reaa w1 AR Aeafaf@a gt & 3car i)
2010

2013

135° 750 2011

105°
2012

The ratio of percentage of increase in price of gold from 2011 to 2012 and 2012 to 2013 is

a¥ 2011 & 9§ 2012 3R 9§ 2012 & I 2013 F WY Y BACT A g5 TTALAT & T 3o AT &19TT ?

Options:
1) 6:5

2)7:5
3) 8:5

4) 9:5
Correct Answer: 7:5
Candidate Answer: [ NOT ANSWERED ]

Question 76.1In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

EXAGGERATE

Options:

1) MAGNIFY

2) IMAGINE

3) REINFORCE

4) REITERATE

Correct Answer: MAGNIFY

Candidate Answer: MAGNIFY

Question 77.In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
to it.

GREGARIOUS

Options:

1) UNSOCIABLE

2) UNSYMPATHETIC

3) UNGRATEFUL

4) UNATTRACTIVE

Correct Answer: UNSOCIABLE
Candidate Answer: UNGRATEFUL

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) Serendipty

2) Serendipity

3) Serndipity

4) Sernidipity

Correct Answer: Serendipity

Candidate Answer: Serendipty



Question 79.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

Considering the (A) / gravity of the problems (B) / an early reply has expected (C) / No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: B

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

The Statesman has the (A) / larger circulation (B) / of all English dailies (C) / No Error (D)
Options:

1A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: B

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

I am very anxious (A) / to know how are you (B) / and mother are doing (C) / No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: C

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

Everything carefully checked.
Options:

1) has been

2) have been

3) are being

4) is been

Correct Answer: has been
Candidate Answer: has been

Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

I've finished painting the house.
Options:

1) about

2) nearing

3) towards

4) almost

Correct Answer: almost

Candidate Answer: almost

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

She made him angry.
Options:

1) have absolutely

2) has certainly

3) have certainly

4) has absolutely

Correct Answer: has certainly

Candidate Answer: has certainly



Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Burn your boats

Options:

1) Have a burning desire to win

2) Become extremely tired after working very hard

3) Do something that makes it impossible to return to the previous situation
4) Want to spend money as soon as you get it

Correct Answer: Do something that makes it impossible to return to the previous situation
Candidate Answer: Do something that makes it impossible to return to the previous situation

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Dressing-down

Options:

1) Apply bandage

2) Wear an expensive gown
3) Give a scolding

4) Pretend

Correct Answer: Give a scolding
Candidate Answer: Pretend

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Null and void

Options:

1) Invalid

2) Observant
3) Uncontrolled
4) Homeless

Correct Answer: Invalid
Candidate Answer: Invalid

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Write or carve words on stone or paper
Options:

1) Sketch

2) Imprint

3) Affix

4) Inscribe

Correct Answer: Inscribe

Candidate Answer: Sketch

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Unable to pay one's debt
Options:

1) Insolvent

2) Impute

3) Indebt

4) Obligate

Correct Answer: Insolvent
Candidate Answer: Insolvent

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Trouble and annoy continually
Options:

1) Complaint

2) Harass

3) Punish

4) Oppress

Correct Answer: Harass

Candidate Answer: Oppress



Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

The Chairman's harsh words like insult to injury to the embarrassed speaker.
Options:

1) added

2) evoked

3) invoked

4) No improvement

Correct Answer: added

Candidate Answer: evoked

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

He is in of sorts today.
Options:

1) out

2) on

3) outside

4) No improvement
Correct Answer: out

Candidate Answer: out

Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

She told to me the news.
Options:

1) said me

2) said to me

3) told me

4) No improvement
Correct Answer: told me

Candidate Answer: said me

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

The philanthropist bestowed a lakh to the orphanage.
Options:

1) granted

2) parted with

3) donated

4) No improvement

Correct Answer: donated

Candidate Answer: donated

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

There are a better ways of solving the problem.

Options:

1) There are different ways of solving a problem.

2) There is a better way of looking at the problem.

3) There are better ways of solving the problem.

4) No improvement

Correct Answer: There are better ways of solving the problem.

Candidate Answer: There are different ways of solving a problem.



Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

In general it is better to use too little make-up than too much. The audience should not be aware that the actor's face is painted. For the actor who is playing his own
age, the artist uses make-up to strengthen the features, particularly eyes and mouth, and to add lifelike colour to the face. Character make-up does these things in
addition to transforming the face to another age, another type or another race. This transformation, particularly for young actors playing old characters, can be
helped greatly by hats and hairdos.

Make-up consists of applying a base colour, then modelling the face by highlighting and shadowing (sinking the cheeks, for example, with a darker colour).
Sometimes, modelling is done by applying false (putty or plastic) noses, enlarged eyebrows, or scars. Lines to suggest wrinkles are drawn on with a dark make-up
pencil (brown or maroon, not black) or brush. Each line is highlighted with another line, either white or a light tint of the base colour. Lips are outlined and coloured,
and a similar colour is applied to the cheeks. After make-up is complete, powder is applied.

The artist uses make-up to strengthen the features, particularly eyes and mouth, and to add life like colours to the face for the actor who is playing .
Options:

1) the lead role

2) the old man or woman

3) his own age

4) the role of the clown

Correct Answer: his own age

Candidate Answer: his own age

Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

In general it is better to use too little make-up than too much. The audience should not be aware that the actor's face is painted. For the actor who is playing his own
age, the artist uses make-up to strengthen the features, particularly eyes and mouth, and to add lifelike colour to the face. Character make-up does these things in
addition to transforming the face to another age, another type or another race. This transformation, particularly for young actors playing old characters, can be
helped greatly by hats and hairdos.

Make-up consists of applying a base colour, then modelling the face by highlighting and shadowing (sinking the cheeks, for example, with a darker colour).
Sometimes, modelling is done by applying false (putty or plastic) noses, enlarged eyebrows, or scars. Lines to suggest wrinkles are drawn on with a dark make-up
pencil (brown or maroon, not black) or brush. Each line is highlighted with another line, either white or a light tint of the base colour. Lips are outlined and coloured,
and a similar colour is applied to the cheeks. After make-up is complete, powder is applied.

What do artists use to help young actors playing old men?
Options:

1) Wig and moustache

2) Hats and hairdos

3) Wheel chairs and walking sticks

4) False noses, enlarged eyebrows or scars

Correct Answer: Hats and hairdos
Candidate Answer: Hats and hairdos

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

In general it is better to use too little make-up than too much. The audience should not be aware that the actor's face is painted. For the actor who is playing his own
age, the artist uses make-up to strengthen the features, particularly eyes and mouth, and to add lifelike colour to the face. Character make-up does these things in
addition to transforming the face to another age, another type or another race. This transformation, particularly for young actors playing old characters, can be
helped greatly by hats and hairdos.

Make-up consists of applying a base colour, then modelling the face by highlighting and shadowing (sinking the cheeks, for example, with a darker colour).
Sometimes, modelling is done by applying false (putty or plastic) noses, enlarged eyebrows, or scars. Lines to suggest wrinkles are drawn on with a dark make-up
pencil (brown or maroon, not black) or brush. Each line is highlighted with another line, either white or a light tint of the base colour. Lips are outlined and coloured,
and a similar colour is applied to the cheeks. After make-up is complete, powder is applied.

What is the correct sequence for make-up?

Options:

1) Modelling the face by highlighting and shadowing then applying a base colour

2) Highlighting and shadowing, then applying a base colour and modelling the face

3) Applying a base colour, then modelling the face by highlighting and shadowing

4) Shadowing and modelling, then applying a base colour for highlighting

Correct Answer: Applying a base colour, then modelling the face by highlighting and shadowing
Candidate Answer: Applying a base colour, then modelling the face by highlighting and shadowing



Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

In general it is better to use too little make-up than too much. The audience should not be aware that the actor's face is painted. For the actor who is playing his own
age, the artist uses make-up to strengthen the features, particularly eyes and mouth, and to add lifelike colour to the face. Character make-up does these things in
addition to transforming the face to another age, another type or another race. This transformation, particularly for young actors playing old characters, can be
helped greatly by hats and hairdos.

Make-up consists of applying a base colour, then modelling the face by highlighting and shadowing (sinking the cheeks, for example, with a darker colour).
Sometimes, modelling is done by applying false (putty or plastic) noses, enlarged eyebrows, or scars. Lines to suggest wrinkles are drawn on with a dark make-up
pencil (brown or maroon, not black) or brush. Each line is highlighted with another line, either white or a light tint of the base colour. Lips are outlined and coloured,
and a similar colour is applied to the cheeks. After make-up is complete, powder is applied.

Lines are drawn with a dark make-up pencil or brush to suggest .
Options:

1) dimples

2) wrinkles

3) smiles

4) pimples

Correct Answer: wrinkles

Candidate Answer: wrinkles

Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

In general it is better to use too little make-up than too much. The audience should not be aware that the actor's face is painted. For the actor who is playing his own
age, the artist uses make-up to strengthen the features, particularly eyes and mouth, and to add lifelike colour to the face. Character make-up does these things in
addition to transforming the face to another age, another type or another race. This transformation, particularly for young actors playing old characters, can be
helped greatly by hats and hairdos.

Make-up consists of applying a base colour, then modelling the face by highlighting and shadowing (sinking the cheeks, for example, with a darker colour).
Sometimes, modelling is done by applying false (putty or plastic) noses, enlarged eyebrows, or scars. Lines to suggest wrinkles are drawn on with a dark make-up
pencil (brown or maroon, not black) or brush. Each line is highlighted with another line, either white or a light tint of the base colour. Lips are outlined and coloured,
and a similar colour is applied to the cheeks. After make-up is complete, powder is applied.

When is powder usually applied?
Options:

1) Before the make-up

2) As make-up foundation

3) After the make-up

4) During the make-up

Correct Answer: After the make-up
Candidate Answer: After the make-up
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